## **WORK DETAIL**

Work Name:- Estimate for development of green belt near Ram Chowk H Block in Palam Vihar Ward No.- 3, Zone-II, Gurugram.

Work Code	GUR01220210708150534
Work Type	Horticulture
Work Sub Type	Horticulture
Work Created Date	7/8/2021 3:05:34 PM
MC Name	Gurgaon
Ward No.	3
Work Quantity	1000
Financial Year	2021-2022

Scheme Name	MC Fund
Scheme Component Name	MC Fund
Total Amount (Rs.)	1279818.64
Announcement Date	
Announcement Type	Others
Announcement No	
Status	Technically Approved

View Items (/Work/PrePareEstimatePreview?q=q0mD5PHEzuEJEgcE6pH/sJJ3JnBjNeRz)

View Abstracts (/Work/PrePareEstimatePreview?q=q0mD5PHi

## REMARK

Remark	Remark By	Sent To	Remark Date	Status	Download File
Technically approved	Devender Kumar	Gulshan Yadav	8/21/2021 1:29:08 PM	Technically Approved	No File
submitted for technical approval please	Gulshan Yadav	Devender Kumar	8/20/2021 3:03:06 PM	Pending For Technical Approval	No File
Approved.	Vijay Kumar	Gulshan Yadav	8/20/2021 10:52:38 AM	Financially approved	No File
Submitted for approval please	Karambir Yadav	Vijay Kumar	8/20/2021 10:26:15 AM	Pending For Financial Approval	No File
Fund Allocated to the tune for Rs 12.79 lacs from MC Fund the Head 230-50-08 Repair and parks and grounds out of approved budget for the year 2021-2022 subject to approval of competent Authority.	Bhupender Singh	Karambir Yadav	8/20/2021 9:46:36 AM	Pending For Financial Approval	No File
For necessary action please.	Karambir Yadav	Bhupender Singh	8/19/2021 11:36:52 AM	Pending For Financial Approval	No File

Remark	Remark By	Sent To	Remark Date	Status	Download File
For necessary action please.	Vijay Kumar	Karambir Yadav	8/19/2021 11:32:15 AM	Pending For Financial Approval	No File
As proposed	Mukesh Kumar	Vijay Kumar	8/18/2021 7:40:14 PM	Pending For Financial Approval	No File
File is submitted for information before financial approval to be given by accounts branch.	Vijay Kumar	Mukesh Kumar	8/5/2021 5:14:38 PM	Pending For Financial Approval	No File
File is submitted to W/CMC for kind perusal.	Sunil Kumar	Vijay Kumar	8/5/2021 12:55:08 PM	Pending For Financial Approval	No File
As discuss, file is Checked for Rs. 12.79 lacs and file is submitted to W/CMC for kind perusal.	Bhupender Singh	Sunil Kumar	8/4/2021 11:57:08 AM	Pending For Financial Approval	No File
For necessary action please.	Vijay Kumar	Bhupender Singh	8/4/2021 10:31:53 AM	Pending For Financial Approval	No File
Submitted for financial approval please.	Gulshan Yadav	Vijay Kumar	8/4/2021 9:47:16 AM	Pending For Financial Approval	No File
Approved	Subhash Yadav	Gulshan Yadav	8/3/2021 8:12:42 PM	Administratively Approved	No File

Remark	Remark By	Sent To	Remark Date	Status	Download File
Submitted for approval please	Devender Kumar	Subhash Yadav	7/29/2021 3:19:02 PM	Pending for Administrative Approval	No File
Pls clarify competency.	Jitender Kumar	Devender Kumar	7/25/2021 10:53:42 AM	Pending for Administrative Approval	No File
Recommended as proposed	Vivek Singh	Jitender Kumar	7/22/2021 4:24:50 PM	Pending for Administrative Approval	No File
Estimate checked . Submitted for approval please	Devender Kumar	Vivek Singh	7/10/2021 1:34:10 PM	Pending for Administrative Approval	No File
Submitted for approval please.	Gulshan Yadav	Devender Kumar	7/9/2021 10:45:53 AM	Pending for Administrative Approval	Click Here  (/Upload/Files/2c328c73- 81e8-4f85-8005- fed9e250dab8.pdf)

## **WORK ITEMS**

Item	Remarks		Numbers		Length	Breadth	Height	Unit	Qnty	Item Type	View
ADITEM	For Green Belt	-	2.00	40.00	0.35	0.35	0.35	Cum	3.43	+	Level (/Upload/Item/GUR012/054c3f6f-bab2-472c-bee

Item	Remarks	Numbers			Length	Breadth	Height	Unit	Qnty	Item Type	View
ADITEM	For Green Belt	120.00	-	-	-	-	-	Each	120.00		<b>L</b> View (/Upload/Item/GUR012/5b7c6d70-8cc4-4a78-b6
ADITEM	for water	-	-	-	200.00	-	-	Meter	200.00	+	Lagrangian
ADITEM	Big Grill	40.00	146.33	-	-	-	-	KG	5853.20	+	Lagrangian
ADITEM	For Green Belt	-	-	2.00	40.00	3.00	1.82	Square Meter	436.80	+	Leview (/Upload/Item/GUR012/0016092f-25fb-49cb-bb0

Page 1 of 3. 1 2 (/AssociateProject/AssignProject?q=r%2Fl3S%2BVZ5t1LsDXaFuxvfvBhbkoKN5Zq)

3 (/AssociateProject/AssignProject?q=r%2Fl3S%2BVZ5t1IVw6CAwNdejeplw0lvF4q)

» (/AssociateProject/AssignProject?q=r%2Fl3S%2BVZ5t1LsDXaFuxvfvBhbkoKN5Zq)

## CALCULATED ABSTRACT

Item Code	Description	Unit	Rate Type	Rate	Premium Rate	Total Rate	Quantiy	Amount
ADITEM	-25 mm nominal outer dia Pipes ( NEW HSR - 22.87.3) Rs 225 per Meter	Meter	NSADRate			225.00	200.00	45000.00

Item Code	Description	Unit	Rate Type	Rate	Premium Rate	Total Rate	Quantiy	Amount
ADITEM	-3.1.18 Disposal of moorum/building rubbish/ malba/ similar unserviceable, dismantled or waste material by mechanical transport including loading, transporting, unloading to approved municipal dumping ground for lead up to 10 km for all lifts, complete as per directions of Engineer-in-charge. 226	Cum	NSADRate			226.00	720.00	162720.00
ADITEM	-Digging holes in all kinds of soil, and refilling the same, with the excavated earth, mixed with well decayed farmyard manure (cost of well decayed farm yard manure to be paid separately) Hole 0.75 metre dia and 0.75 metre deep (NEW HSR 26.13.3)	Each	NSADRate			24.00	120.00	2880.00
ADITEM	-Steel work welded in built up sections/ framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works (NEW HSR 13.29.2)	KG	NSADRate			93.00	7813.20	726627.60
ADITEM	-6.1.2 Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work below plinth level and up to Floor IV level: 1:2:4 (1 cement : 2 coarse sand (zone-III) : 4 graded cum stone aggregate 20 mm nominal size) New hsr 3892	Cum	NSADRate			3892.00	10.72	41722.24
			1		Total Amo	unt		1279818.64

Page 1 of 3. 1 2 (/AssociateProject/AssignProject?q=9NQUvnDzVPckY7R8WpcUQ4LXG0P7rGfKj%2BRvvQUfKpw%3D)

3 (/AssociateProject/AssignProject?q=9NQUvnDzVPc976jt%2BinS89xZKNDHHrACAhkVTqlhxlg%3D)

» (/AssociateProject/AssignProject?q=9NQUvnDzVPckY7R8WpcUQ4LXG0P7rGfKj%2BRvvQUfKpw%3D)

Copyright © 2019-2021. Directorate of Urban Local Bodies (https://ulbharyana.gov.in). All rights reserved.